03156 #&2E B & ( BIEAEA )

7= miiEA

M
4N,

I
mAEREESALE,
B

REM T BEE IR,

BEET :
1) KR

! 3x120° O 2 i

<I"§:
A
|

32

; D6
! y g | D7 (3x120°)

5 : o A
HE - 3 : 7 | S
8 h \*/ : “| 4 f/// i . %i‘_ =
- : 77—
1 T | 0 ) r
L1 s B| D4
D4 ! gt

03156-13 13 17,3 34,99 4,4 25 11,56 45 76 |3 135 M4x7 20 11,91 20
03156-16 16 20,7 36,99 4,4 29 11,56 45 76 | 37 21 M4x7 20 11,91 20
03156-20 20 248 44,99 54 35 15,82 6 9,5 | 45 21 M5x9 25 16,21 25
03156-25 25 304 54,99 6,4 42 19,94 7 11 | 55 255 M6x10 25| 20,32 25
03156-30 30 36,2 59,99 6,4 48 21,77 7 11 |60 305 M6x11 30| 22,15 30
03156-35 35 413 69,99 8,4 56 22,61 9 14 | 70 40 M8x17 32| 22,99 32
03156-50 50 58,4 91,99 104 75 31,12 1" 17 | 92 55 M10x18 45 31,5 45

© norelem www.norelem.com



